P. 792-3: A Limitation of vect or <T>

Efficient insertion and deletion at back of avect or <T>:

Before

v.push_back(55)

- =
l’ {

After

v.push_back(55)

77 66 5
LO] (1] [2] 3




Not efficient insertion and deletion at front of avect or <T>:

88 77 66 55 L 33 22 11
[O] [1] 2] [3] (4] [5] (6] 7]
88 88 77 66 55 b 33 22 11
[0] [1] 2] [3] [4] [5] [6] (7] 8]
9g 88 77 66 55 4 33 27 11
[0] [1] (2] [3] [4] [5] [6] (7] (8]
Gg 88 77 66 55 L 33 22 11
(0] [1] (2] [3] (4] (5] (6] (7] (8]
88 77 66 55 Li 373 22 11
(0] [1] (2] [3] (4] (5] (6] [7]

Before

Shift each value
right one element

Overwrite first
value with 99

Before

Shift each value
left one element



